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TEATAT 16, 36, 45, 48 § ¥ Y« ¥ fawfve 2m
refl IR 37hi i gy T 9&TT B 2

(a) 9180
(b) 9360
() 9630
(d) 9840

ﬂﬁx:ya,y=zb3ﬂ'(z=xc%,?habcﬂqﬂ

R
3 e |
b 2
(e -1
d o0

g x =2+ 223 4 213 B ot =T x°— 6x%+ 6x
T HHE 1 B 2

(a) 2
b)) 1
e 0
d -2

XXYXX % &9 6l uig 37! $i ot gt 33
T fewfoa &t 8 2

(a) 1
(b) 3
(¢ 5
(d) I

8.

(2-A)

Ure 3! 6l T §@IT XY235 &, S 3/ faursy
R, TR XN Y TSR F I F X+ V<5
2 1 (X, V)% 9Hl & |9 IWi il g w=
22

(a) 5

(b) 6

(e) T

d 9

A x2 - 6x — 27750 8, I fA=fafea § &
HH-AT HE B 2

(a)
(b)

-3<x<9

x<99Tx>-3
€ x>99Tx<-38
d) HIdx<-3

HE&IT 38808 o HISh! ! T, faurhi 1 3k
Gg 39 TEAT i B, ool & 2

(a) 74

(b) 72

(¢ 70
(d) 68

S WgYGh. % WEWH TEI9Ad®%  (HCF)
3R AYgaH TP (LCM) 3E: (x + 3) 3K
(x® - 9x% - x + 105) & | ARG I ¥ TH TgR
x? —4x - 218, A GEU IgIG FA 2 ?

@ x2+2x-21
(b)) x2+2x+15
() x2-2x-15

d x2-x-15
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1. The highest four-digit number which is|5.
divisible by each of the numbers 16, 36, 45, 48
is
(a) 9180
(b) 9360
(¢) 9630
(d) 9840
2. If x=y? y=zPand z = x%, then the value of|g,
abc is
(a) 1
by 2
(e -1
{al-- 0
¢
8. Ifx =2+ 223 4 93 then the value of the
expression x3 — 6x2 + 6x will be
(a) 2
b)) 1
(&) 0
d -2
8.
4. How many five-digit numbers of the form
XXYXX is/are divisible by 33 ?
(a) 1
(b) 3
() 5
(d) Infinite
GTHY-T-XMT (3—-A)

A five-digit number XY235 is divisible by 3
where X and Y are digits satisfying X + Y < 5.
What is the number of possible pairs of values
of X,Y)?

(a)
(b)
(e)

(d)

O == & O

If x2 — 6x — 27>.0;.then which one of the
following is correct ?

a) —-3<x<9
b) x<9%orx>-3
(e x>90rx<-3

(d) x<-—38only

The number of divisors of the number 38808,
exclusive of the divisors 1 and itself, is

(a) 74
(b) 72
(el 20
(d) 68

HCF and LCM of two polynomials are (x + 3)
and (x3 — 9x2 — x + 105) respectively. If one of
the two polynomials is x2 — 4x — 21, then the
other is

(a) x2+2x-21
(b) x2+2x+15
(¢) x2-2x-15

d =x2-x-15
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9. I o IR p A W AAlw FeAl ¥ 6|12, AR dm wEw wwhE wemed ¥ ad @
a+ﬁ=—%aﬁtaﬁ=f; ?, W& l<p<q<r AN 110 B, o 3IF T H JTHA w4
2, 9 Frefias # @ S TEaT 2 2 & 2
1 (a) 625
@) a+f :
b
o T (b) 654
= P © 684
et
ap (d 1725
) e B . .
o+ 13. 3 qUitshi p 3 q, ST&T p > 60 3 q > 60 &, I
10. < R ‘A’ 3K ‘B’ I s Hiy fiee s w19 I G168 & 3 N e
F 5 i o e | AR A Y G & Fre ‘(HCF)lﬁélﬁlaTﬁﬂﬁme%?
mﬁmﬁﬁﬁmmﬁ@#mﬁﬂmﬁ (a) 256‘
Hr T Ban, 3 B’ A araa | o SRl
¥ 1 5 Suh uhfoes siema 3 &= (b) 184
femam B, at % 3 feT § qu B ST | vk X &
Awmaﬁmﬁﬁqﬁwmv '
: 14, 3fQ log;, 2 = 0:3010 37K log,, 3 = 0-4771 &, A
®) 4 f log 10 (0-72) %1 | fh =Tk & 2
© 5% fe (a) 09286
fi: % R (b) 19286
(¢) 18572
11. P [ 1} [ \
A = +x6 1 x % Wk (d) 18572
T R ?
s 1 15. 3Ife ax =y —czSﬂ'{abc-l%?ﬁ—+~—+1
(a) x —1+—2) y z
x @1 O fordes U=t 3hm 2
”
(b) x4—1+i4] @& =1
(e) x4+1+i4] A B
= e 1
4 i
GTHY-T-XMT (4-A)
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If « and B are two real numbers such that

ot+[3=-—g and aB:i,where l<p<q=<¥r,

then  which one of the following is the
greatest ?

(a)

@y . 2B

a+fp

Two workers ‘A’ and« ‘B’ working together
completed a job in 5 days. Had ‘A’ worked
twice as efficiently as he actually did and ‘B’
worked one-third as efficiently as he actually
did, the work would have completed in 3 days.
In how many days could ‘A’ alone complete the
job ?

1
3—d
(a) 5 ays

(b) 4% days

(c) 5% days

(d) 6% days

Ifx6+i=k[x2+

XG
% _1_J
xz
1
0

1

—2] , then k is equal to
4

|

(a) b4

(b)

N

(c) ¥ &1+

J
iJ

4

e

N

‘ -

(d)

S

12.

|18

If the sum of the squares of three consecutive
natural numbers is 110, then the sum of their

cubes 1s
(a) 625
(b) 654
(c) 684
725

(d)

The product of two integers p and q, where
p > 60 and q > 60, is-7168 and their HCF is 16.

- The sum of these two integers is

14.

15.

A)

(a) 256
(b) 184
_(c) 176
(d) 164

If log1p 2 = 0-3010 and log,; 3 = 04771, then

the value of loggg (0-72) is equal to

(a) 09286
(b) 19286
(@) - 1-8572
@ ‘18572

- If a* = bY = ¢Z and abc = 1, then the value of

1 4 1 i 1 will be equal to
X ¥ &

(@ -1

(b) O

fe) 1

d 3
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17.

18.
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a&aﬁﬂmﬂ2+bx+c=0a§%§:
2 | 1
+

S HE T8 ?
aoc+b ap+b

(a)
(b)
(c)

(d)

@ i i T wEERT XYZ, YZX 3R ZXY %

ey # fefafga seE w fa=r Hifsw .

1. el & AR, (X + Y + Z) ¥ "ST
LR |

2. &S HI ATHA, 111 § 95T 8 |

ST weAl § W HIA-A/E el 22 2

(a) had 1

(b) Had 2

(¢) 13N 2@t

(@ Jar1dAH2

31 @it IHi (m, n), & m 3 n 39 ISR *
s s & fn L, LD L 2 g
. m n mn 5
& g fohadt 8 2

(a) 6
(b) 5

(¢ 4

d 2

19.

20.

21.

22,

(6-A)

‘qﬁ a = Xyp_l, b = qu_l, Cc.= Zxr_l %’ Fﬁ
ad~Th'~PcP-q fHHe ST B 2

(a)
(b)
() B

(d) 3I9E H F B T8l

abe

Xyz

3 T gy 6l el i Hew 5 4 F aUE
H R | I AT % SE H AR 9° B |
Frefafigs st w famr v .

1. I ¥ T GO R SR qE0 9T ¢ |
2. ITH ¥ UH oY 2 37N qHU TS R |
3.  IFh sTEl IVl I AT 720° R |

ST o § A WA Y

(a) ~had 1

(b) Had 2

(@ /13IR 8

d 233

S 2x2 + 5% + 5 1 AT A 41 8 ?
(@ 5 '

b) 15/8

() =15/8

@ 0

H H
_+_
P

Ife P 3 Q 1 gUHS Wieg H 2, @ d

T FT R ?
(a) 1

b)) 2
P+Q
PQ

PQ
P+Q

(c)

(d)
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16. If o and P are the roots of the equation|I9.
ax2 + bx + ¢ = 0, then the value of
1 TR
+ is
ac+b ap+b
a
(a) E
w L
g 20.
c
(C) a—b
d .
@) abe
17. Consider the following statements in respect
of three 3-digit numbers XYZ, YZX and ZXY :
1. The sum of the numbers is not divisible
by X+ Y +Z).
2.  The sum of the numbers is divisible by
111.
Which of the above statements is/are correct ?
(a) 1lonly
21.
(b) 2only
(¢) Bothland?2
(d) Neither 1 nor 2
18. The number of all pairs (m, n), where m and n
are positive integers, such that | 22.
1 1 1 .
— + = = —/— = —is
m n mn 5
(a) 6
(b) 5
() 4
da 2
GTHY-T-XMT (7-A)
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If a=xyP~1, b=yza-1, ¢=2zx""1, then

ad—-Tbr—PcP~4 isequal to

(a) abc
(b) xyz
(¢ 0

(d)

None of the above

The number of sides of two regular polygons
are in the ratio 5 : 4. The difference between
their interior angles is 9°. Consider the
following statements : '

1 One of them is a'pentagon and the other
is a rectangle.

2. One of them is a decagon and the other
is an octagon.

3.  The sum of their exterior angles is 720°.

Which of the above statements is/are correct ?
(a)
(b)
(¢) land3
(d 2and3

The minimum value
2x2 + 5x + 5 is

1 only
2 only

of the expression

(a) 5

b 15/8
e\~ 15/8

d) 9

If H is the harmonic mean of P and Q, then

the value of % + —g— is

(a) 1
(b) 2
P+Q
(c) PQ
PQ
(d) P Q
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23. F@Tﬁ’vﬁ £1, 2, 3, +4 ¥ ¥ Th 9K § QA|27. H W& H, 50% el s A bt g, 40%
eI H AR 1 a1 @t §9T UEEa fe=dt & % g 3 15% i fwalt & Wt g |

T AR fehaT & 2 fepam wfcera sregeff ofish ik = 1 & um
(a) O g ?
® . —350 (a) 20%
b)  25%
= o © 60%
(d) 55 d 75%

24, 9 3x® - 2x% - 13xy® + 10y® ®I (x - 2y) ¥|28. 100 m Tt TH WML, 100 m A T TIeHH
fawfsa fFam Smar 2, ot Svwa frass seR H 10 THUS A TCHRAA & | IE H T

B R 2 . et 2
(a) I (a) 36 kmph
| 45 kmph
® ¥ e ¥
_ (¢) = 54 kmph
@, .55 (d) 72 kmph
d y+3 :
, 29. % Hisfhd HOR A9 AT % IREHF 20 km

%1 gl 40 kmph i 3fEd 9T ¥ 99 HT B,

25. 4 ab+b =037, @@
A 5 becin T =1 10 km 1 g0 10 kmph H 3iga =1

(b? — ca) (c® — ab) + (a® —be) (c? — ab) + (a — bo) (b? — ca) H @ Hal 8, R AMfEd 30 km H gl
(@ — be) (b2 — ca) (2 — ab) 40 kmph I 3fEd = & qF H@T 2 | O [
BT T R 2 AT <l G 9Tl 18 2
(a) 20 kmph
(a) -1
(b) 2667 kmph
(b) 0 (c) 2824 kmph
o . (d) " 30 kmph
@ 2 80. UH AW HT (1000 m) F Th g & A, B

: 150 m ¥ BT 3, T 3000 m HI TH 3=
26. 9 EUH TR w0 2, o W gm Ay § 59 qs T, C, Dl 400 m ¥ a1 & | B =@ D

. &1 =1 % T 8 | (A Ao fR A, B, € 3
MY U Thalg A9 & &9 H T 210 W Do SRR SR e .|

Lok d g A 3T C, 6000 m I TH Eg T wAT o T,
(a) ¥ 2000 ' at Frfafea & & +-a1 wh T& B 2
(a) A, C%HI250 m¥ Ul 8

(b) ¥ 3200
(b) C, Al 250 m T & &
(c) ¥ 4000 (© A, CH 11538 m &1 2
(d T 4800 (d C,A® 11538 m T BT 2
GTHY-T-XMT ~ (8-A)
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The sum of all possible products taken two at
a time out of the numbers +1,+2,+3,+41s

(a O
(b) -30
() 30
(d 55

The remainder when
3x3 — 2x2y — 13xy2 + 10y3 is divided by
(x — 2y) is equal to

(a) Zero
(b) ¥y

() y-5
d y+3

If ab + be + ca = 0, then the value of

(b2 — ca) (c2 — ab) + (a2 —be) (c® — ab) + (a® — be) (b — ca)

(@2 — be) (b2 — ca) (2 — ab)

18

(a) -1
(b) O
@ 1
d 2
26. What is the principal amount which earns
¥ 210 as compound interest for the second
year at 5% per annum ?
(a) ¥ 2000
(b) ¥ 3200
(c) T 4000
(d) T 4800
GTHY-T-XMT

27.

28.

29.

30.

(9-A)

In an examination, 50% of the candidates
failed in English, 40% failed in Hindi and
15% failed in both the The
percentage of candidates who passed in both
English and Hindi is

subjects.

(a) 20%
(b 25%
() 60%
(d) 75%

A train 100 m long passes a platform 100 m
long in 10 seconds:"The.speed of the train is

(a) 36 kmph
(b) 45 kmph
(¢) 54 kmph
(d) 7%kmph-

A cyelist covers his first 20 km at an average
speed of 40 kmph, another 10 km at an
average speed of 10 kmph and the last 30 km
at an average speed of 40 kmph. Then the
average speed of the entire journey is

(a) 20 kmph
(b) 26-67 kmph
(c) 2824 kmph
(@ 30 kmph

In a race of 1000 m, A beats B by 150 m, while
in another race of 3000 m, C beats D by 400 m.
Speed of B.is equal to that of D. (Assume that
A, B, C and D run with uniform speed in all
the events). If A and C participate in a race of
6000 m, then which one of the following is
correct ?

(a) Abeats C by 250 m
(b) C beats A by 250 m
(¢) Abeats Cby 11538 m
(d) Cbeats Aby 11538 m
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31. U fUar, wF wrel, ©F 921 W w st afva
I Hiftan it 3y H AR 96 99 ¥ | G
IRER 1 F= Bter e ® | S af |@ig
S g3, 99 qRER & @i wew i iy
AR 66 I A1 | ARG o frar A ey, @
$1 Fd9H g H 6 AT ], . A« F 12 I
aTe, Tuar i sy farat gnft 2
(a) 4499
(b) 459d
() 4699
(d 489
‘A, ‘B’ I gl ¥ o9 TEI ST A B 3K
T I 1 T A § B’ gor #§ 10 e 9
dr ® | I HW H A W HH d B W
fope f&a @ 2
(a) 12
(b) 15
(c) 20
@ 30

33. dsfifed @1 =« 2w T SN @@ S I
85 s=i H , Wyg H wisfhdl &l He TE,
TYE § ASH hl b HEAT F 70% & | had
JefieT Wel aT dehi-hl G, ASHi
&1 H 50% & R Jsfied Qe 9@ deht
$ A T, AGHI H FA G F 60% & |
+ad ¢Fd T WeAd a1 Sl ] 'E, a1
$1 HA T F 40% & 3N FA 12 999 W F,
S defifed o we ¢fw SNl we | Saw
aefie We archt wefrdl it e feadt & 2
(a) 14
(b) 16
) 17
d 35

GTHY-T-XMT

®

e L]
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35.

(10-A)

34. T =k 7 forelt gpm & @ amgd X 3y

Gl | foshl ot & Tge qodi 1 ITES T 130
A | 9% X W i3 foshl o7&l o1 3t awg v
W 9% forshl o o | fasht = 1 it = 39
=fth 3 T 13675 1 H THU BT WA AT |
fosht o Sre & Ut 9%g Y 1 o &9 o 7

(8l <75
(b) <85
ey T 122

d T125

o i Hl ST & AR, IhI FFEE H
1T fe S9! Toft Y T @ s sy f
STh & AT U AR TS ° ser dfe R S
® | F© I8 a1, M 6l gog & ot 3k =
YT STECIE 1 AT fawEr 9 favar o=f &
fo1g B Srar 8 3t smeht &1 o wiE TS %
fore | 59 T it 9y @ R}, a8 o Seg
H1 gl feem Sl fauen oot & o o
ST & R SRl o1 el | % fqw, st onf
g1 ® | & 319 T 88,000 He¥ H SEEE H
wiferh g | #ft st < SrrEre w5 Per ged feha

o7 2
(@) ¥ 1,00,000
(b) ¥ 1,24,000
(¢ ¥ 1,28,000

(d) ¥ 1,32,000
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33.
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The sum of ages of a father, a mother, a son
Sonu and daughters Savita and Sonia is 96
years. Sonu is the youngest member of the
family. The year Sonu was born, the sum of
the ages of all the members of the family was
66 years. If the father’s age now is 6 times
that of Sonu’s present age, then 12 years

hence, the father’s age will be
(a)
(b)
(c)
(d)

44 years
45 years
46 years
48 years

‘A’ is thrice asfgood a workman as ‘B’ and
takes 10 days less to do a piece of work than
‘B’ takes. The number of days taken by ‘B’
alone to finish the work is

(a) 12
(b) 15
(e) 20
(d@ 30

Out. of 85 children playing badminton or
table tennis or both, the total number of girls
in the group is 70% of the total number of boys
in the group. The number of boys playing only
badminton is 50% of the number of boys and
the total number of boys playing badminton is
60% of the total number of boys. The number
of children playing only table tennis is 40% of.
the total number of children and a total of
12 children play badminton and table tennis
both. The number of girls playing only
badminton is '

(a) 14
(b) 16
(e 17
(d 35

34.

35.

(11-A)

A person bought two articles X and Y from a
departmental store. The sum of prices before
sales tax was ¥ 130. There was no sales tax on
the article X and 9% sales tax on the article Y.
The total amount the person paid, including
the sales tax was ¥ 136-75. What was the
price of the article Y before sales tax ?

a) T8 .
(b) T 85

{e) T 122
d <125

According to Mr. Sharma’s will, half of his
property goes to his wife and the rest is
equally divided between his two sons, Ravi
and Raj. Some years later, Ravi dies and
leaves half of his property to his widow and
rest to his brother Raj. When Raj dies he
leaves half of his property to his widow and
remaining to his mother, who is still alive. The
mother now owns ¥ 88,000 worth of the
property. The total worth of the property of

Mr. Sharma was

(a) ¥ 1,00,000
(b) T 1,24,000
(¢) ¥ 1,28,000
(d) T 1,32,000
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37.

38.
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®

X g % @ A 4 et @O R YI IR F
E H T dad G | FR P @ H T
Siqe i Hima Aig % 5@ hl & Sqaq Fa
g R | 2T F9 oft 7 @la w e =
% 9 % fog = 50 fer R 381 w6 o1y firen
foen 3t Fma &1 3w ¥ suEteust s
fn sz R ATH T 50 WA W, @
"R & @ I Th siaad i HiHd 741 2 2

(a)

<75
(b) T 50
(c) T 46

(d T30

T (10) 99 TET U AT IR Il G H 7Y
3:1% 9d J ot | 39 & 10 9% =i I
ATY T A 13 : 7 &AM | 396! HAHA Y
T2

3999, 21 99
(b) 5539, 25 a9
(0 7594, 259
49 9§, 31 =4

(a)

(d)

TS (60) TASH HT Th HaMl H, 45 /FsH I
Wdd & 3 30 dig FWaElE @ed & | I
HT B TAH AGH oHl Gl § § HH-A-FH
T T Iavd Wordl 8, d fhad @e% FHad
FEE G & ?

(a) 30
(b) 20
(c) 15

(d 10

39.

40'

(12=A)

3 SR gHRE, 5% 3R 4% F GHR =qw
WIUR &t T | 4 96 F SW= FA =W
¥ 405 % TR AT | FeA fohal &7 I9R ot 18
oft 2

(a) T 1075

(b) ¥ 1100

(¢) T 1125

@ ¥ 1150
@ (12) =i, gfdfed 8 52 M w1 § it
Th QAR &1 & 3= 10 foq o & | 3R
8 SAfth 39y §, @t HW w1 8 fAl F g wW
& fore 32 fafer foran &2 +m wer =ife 2

(a) 10

(b)  12%@

(e 1592

(@ 18%R

41. T gY o¥R 9 3 T 850 W e i w @

28 Wit g9 @l | IEH $B UM e % W
a4 39 o i 3@ g w a9 o | AR
SEHI T 12'5% & @ 35 Topan urht firemr 2

(a) 4-57¢feX
(b) 4
(c) 35X
d 3@t
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36. X bought 4 bottles of lemon juice and Y bought
one bottle of orange juice. Orange juice per
bottle costs twice the cost of lemon juice per
bottle. Z bought nothing but contributed ¥ 50
for his share of the drink which they mixed
together and shared the cost equally. If Z’s
¥ 50 is covered from his share, then what is
the cost of one bottle of orange juice ?

(a) =75
(b) 50
(¢} .- T 46
(d T30

87. Ten (10) years before, the ages of a mother
and her daughter were in the ratio 3 : 1. In
another 10 years from now, the ratio of their

. ages will be 13 : 7. What are their present
ages ?
(a) 39 years, 21 years
(b) 55 years, 25 years
(¢) 75 years, 25 years
(d) 49 years, 31 years

38. In a class of 60 boys, there are 45 boys who
play chess and 30 boys who play carrom. If
every boy of the class plays at least one of the
two games, then how many boys play carrom
only ?

(a) 30
(b) 20
(¢) 15
(d 10
GTHY-T-XMT

39..

40.

41.

(18 =4

Two equal amounts were borrowed at 5% and
4% simple interest. The total interest after
4 years amounted to ¥ 405. What was the
total amount borrowed ?

(a) < 1075
(b) ¥ 1100
(¢ T 1125
(d) ¥ 1150

Twelve (12) men work 8 hours per day and
require 10 days to build a wall. If 8 men are
available, how many hours per day must they
work to finish the work in 8 days ? -

(a) 10 hours
(b)Y / 12 hours
(¢) 15 hours
(d) 18 hours

A milk vendor bought 28 litres of milk at the
rate of T 850 per litre. After adding some
water he sold the mixture at the same price.
If his gain is 12-5%, how much water did he
add ?

(a) 45 litres
(b) 4 litres
(¢)  3-5litres
(d) 3 litres
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42. TH Ul 4 e f g3, 98 9 & feww @
T&% 72 e & o1g, = g5 & o fiee
STt ® | AW Ty & fRae @ s i f aw
ot fopa m, @ a1 3m, & Sef 2
@ 1212 fire 98
11
b 167 fie o8
11
(© 1212 fime am
11
(d) 157%1?1'—12@
43. wF AR Freft W § @ ©F FR w UL, A
40 kmph $I =T ¥ AL TSl a0 SH He
STG =T %1 9dT FHl @ X I HI Hifeis o=
B fret ot FR o 60 kmph 1 916 & IR 1
ST a1 2 | Hifeish, =R o T e B ?
(a) WIfelh % WX ¥ 55 km st gt W iR =1
%+ T 5 95

(b) Wk % BX § 60 km i gft 1T 7R =l
% 1-5 T 9lE

() Wiferh % WL ¥ 60 km 1 gt T iy <1
T TdqT S 6 1-5 He e

(@ HrieTh % W H 55 km i gft | AR =il
+ 1-5 He 9Ig

44. X 3R Y3H! fraat s *M =l 6 foa # qu

© "hd § | IFhen X 36 Hm w12 foT # qu
HHAT 8 | IH HH HL [ B A hel ¥ B
TehaaT Tug = 2
(a) 16fe
®) 12fF
© 10f@

@ 8fa

45. WRE (12) ARFTH AW 10 FHU HI 16 foT &
Y T Thd & | 8 Uk T YR F 20 FHA
&I fore fe o U= o wd & 2
(a) 12
(b) 24
(e) 36
d) 48

GTHY-T-XMT

46.

47.

(02 % uH # qymer fomg % gid a1 n Y=
& | T fe mm % 6 logy 2 = 0-30103 2 |
n %1 A =18 ?

(a) 25
(b) 19
(¢) 18

) 17

@ﬁmaﬂlgaﬁmg%zﬂmaﬂtamw
S 11:3 ® | Frfafen wa w few
Hife

1. 3hi 3T T I 8:5 2 |

p. ymmmm%@ﬁmwa
aﬁqwqaﬁlangaﬂaﬁman:sml

ST oAl § ¥ BE-AA wd 3 2
(a) %991 |

(b) Had 2

13X 2 g

Id 1R 2

(c)

(@)

48. Waw sl x+y253ﬁ'(x—~y53$[36

(14-A)

el R & 2

(a) <had Jom wguty

(b) g¥q AR foeftar agatet &
(@ fedfrr o geftar wgatst &
d) g R =g agata §
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42. The minute hand of a clock overtakes the hour | 46.
hand after every 72 minutes of correct time.
How much time does the clock lose or gain in a
day of normal time ?
(a) Losel21 2 minutes
i §
(b) Lose 1571—11- minutes
(¢) Gain 121 % minutes
(d) Gain 157% minutes
417.
43. A thief steals a car parked in a house and goes
away with a speed of 40 kmph. The theft was
discovered after half an hour and immediately
the owner sets off in another car with a speed
of 60 kmph. When will the owner meet the
thief ?
(a) 55 km from the owner’s house and one
hour after the theft
(b) 60 km from the owner’s house and
1-5 hours after the theft
(¢) 60 km from the owner’s house and
1-5 hours after the discovery of the theft
(d) 55 km from the owner’s house and
1'5 hours after the theft
44. X and Y together\can finish a job in 6 days. X
can alone do the same job in 12 days. How
long will Y alone take to do the same job ?
(a) 16 days
(b) 12 days
(¢) 10days 48.
(d) 8days
45. Twelve (12) persons can paint 10 identical
rooms in 16 days. In how many days can
8 persons paint 20 such rooms ?
(a) 12
(b) 24
(c) 36
(d) 48
GTHY-T-XMT (15-A)
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There are n zeros appearing immediately after
the decimal point in the value of (0-2)25. It is
given that the value of log;y; 2 = 0-30103. The
value of n is

(a) 25
(b) 19
() 18
(d) 17

The ratio of the sum ‘and difference of the ages
of the father and theson'is 11 : 3. Consider the
following statements :

1.  The ratio of their ages is 8 : 5.

2. The ratio of their ages after the son
attains twice the present age will
be 11 : 8.

Which of the statements given above is/are
correct ?

(a) 1only

(b) Z2only

(¢) Both1and?2

(d) Neither 1 nor 2

The solution of linear inequalities x + y 2 5
and x —y < 3 lies

(a) Only in the first quadrant

(b) In the first and second quadrants
(¢) In the second and third quadrants

(d) In the third and fourth quadrants
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49. %ﬁmw%%wwﬁxtyz:oa'ﬂt
(x — a)? + y2 = 1 & Thd YATCHS B & | 36F
ToIQ o’ =7 |19 T R 2

®

(@ J2

by 2
(© -2

b, 1

50. ?ﬂia,ﬁ ﬁ(yﬁ@ﬂf(x}:ax3+bx2+cx+dai
1§, T o2 + p2 4 12 FhEH S 22

b2 —ac
(a)
a2
)
) b2 - 2ac
a
b2 + 2ac
(c) 2
b2 - 2ac
(d)
. a2
GTHY-T-XMT { 16—

| 53.

AT AW AT 04 (AR) wgaiwn * forg FreaferRem
R femm S

T XII s T giier °, 55% faaneff st fosm
4 U §Y, 62% fowre § U@ g, 60% WEANE
T qY, 25% s oft Sha o # ww g,
30% Wfeehure ot wEEwTE § U g, 28%
St forsr 3t e # w gu | e 29 T
el fawai o %t gu |

fera sfoema feremeff woft o ot o wra qu 2
(a)
(b)
(c)
(d)

fhem gfazm foemeff Sodis = v o wm
wq 2
(a)
 /(b)
(c)
(d)

afe faenfd=i i @@ 360 2, 9 FHEFH QA
ferat # fepa forneff ot gu 2

(a) 270

(b) . 263

(c) " 265

(d) 260

Wiftheres R W 3 § 9" En a9
et & den w1, S faam sk
Hifdrere get § o g wrmwme # T @
9 B A faenfdet it s @, U =
22
(a)
(b)
(c)
(d)

51.

W k= oo

52,

21
23

25 |
97 |

54.

15 IR
10: 7
B:7
59

A)
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It is given that the equations x% — y2 = 0 and
(x — a)2 + y2 = 1 have single positive solution.

For this, the value of ‘a’ is

(a) 2
(b) 2
© -2
d 1

50. If o, p and y are the zeros of the polynomial
fix) = ax3 + bx2 + cx + d, then o + B2 + 42 is
equal to

bZ —ac
(a)
a2
b2 - 2ac
b
(b) .
b2 + 2ac
(c) "
b2 - 2ac
(d)
a2
GTHY-T-XMT

Consider the following for the next 04 (four)
items that follow :

In an examination of Class XII, 55% students
passed in Biology, 62% passed in Physics, 60%
passed in Chemistry, 25% passed in Physics and
Biology, 30% passed in Physics and Chemistry, 28%
passed in Biology and Chemistry. Only 2% failed in
all the subjects.

51. What percentage of students passed in all the
three subjects ?

(a 6
(b) 5
(c) 4
d 3

52. What percentage of students passed in exactly
one subject ?

(a) 21
(b) 23
(e) 25
(d) 27

53. If the number of students is 360, then how
many passed in at least two subjects ?

(a) 270
(b) 263
(Ch\ 265
(d) " 260

54. What is the ratio of number of students who
passed in both Physics and Chemistry to
number of students who passed in both
Biology and Physics but not Chemistry ?

(a) 7:10
(b) 10:7
(e 9:7
@ 7:9

(17-A)
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®

Tt wTet # gleat & Aofier @1 2w (321) for
9 AT STGT 8 ?

(a) i W (AR )

(b) SHHEE ATIH (ATTETeT Thet)

. T i e

(d) I Ao (N he)

56. TR A % 3ffEd 7% 65 & 3N UM B &
Hrga 37 70 & | A Q1 srgum A firem
¥ 3f1Hd 37 67 BId &, A1 AN A F BEI_Hi
TEAT 1 AT B & DT h €A W I
TR ?

{ay- 8:2
b 1:3
(€ 3:1
(d) 2:3

57. 19 Jzwi it mfewsr (difezd) 30 2 1 @ #HR
Y&vr foTg STd € 1R $h °F 8 3R 32% | 3
21 JeqoTt <t Hifedeht = 8 2
(a) 32
(b) 30
(c) 20
(d) T9FE g9 (S0) F Hro Fulfg =&

ST Hehall

58. SO & v 3 ol (derrey) i HET qed
8, Toret IRERaT Y &1 3THR
(a) TAER BH i Ty T
(b) feremIfes fsanior B9 <t Jaftr w@an @
(c) <& ST T&al &

(d) waet aoff ufafda &ar & afe <= ()
FUETRa 31ferek favasia & i 2
GTHY-T-XMT

59.

60.

(18=1)

aH i x; 3R %, (W& %, > X;) FHAM
n, 3R n, (ST&T ny < n,) Vol Tt S =T
S Oed 8 | Ife 3% fyen S w Ay x B, @
feafafea d @ s ad & 2

(@) X <X <X
(b) X > 1_(2
(c) X< il

(d)

(B, — ) +(Xy — %) =0

F=afefea SuEt 9w fomm iy .

FITT -

Tifedent a5 ot ftepfera Al S Gehdl & S/ foneht
STARA 527 % BR 3 e & |
FITII :

aifedreh U et oftaa @ |
Waﬁ%éﬁaﬁﬁm&f@aﬁﬁﬁm
U TE B 2

(a) $UYT IR HYF II 241 g8 & R F
II, % 1 <h! 981 =mea 2

(b) HYF I IR FYF II 3FI T8 & R U
11, %A 1 i TEl =T 981 &

() HYF IHE & W HA II ToAd &

(d) HUF ITTAd 3 W Y IT 98 8
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55. Data on ratings of hotels in a city is measured | 59,
on
(a) Nominal scale
(b) Ordinal scale
(c) Interval scale
(d) Ratio scale
56. The average marks of section A are 65 and
that of section B are 70. If the average marks
of both the sections combined are 67, then the
ratio of number of students of section A to that
of section B is
(a) 38:2 -
(b) 1:3 | 60.
(c) 34l
@ 2:3
57. The median of 19 observations is 30. Two
more observations are made and the values of
these are 8 and 32. What is the median of the
21 observations ?
(a) 32
(b) 30
() 20
(d) Cannot be determined’ due to
insufficient data
58. As the number of observations and classes
increases, the shape of a frequency polygon
(a) Tends to become jagged
(b) Tends to become inéreasingly smooth
(c) Stays the same
(d) Varies only if data become more reliable
GTHY-T-XMT (19-A)
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Let X; and X, (where Xy > X;) be the means
of two sets comprising n; and n, (where
ng < n,) observations respectively. If X is the
mean when they are pooled, then which one of

the following is correct ?

(a)

X1 < X < Xg

(c)

i<i1

@ (] -X)+(Xy —X)=0
Consider the following statements :

Statement I :

Median can be computed even when the end
intervals of a frequency distribution are open.

Statement II :
Median is a positional average.

Which one of the following is correct in respect
of the above statements ?

(a) Both Statement VI aﬁd Statement II are
true and Statement Il is the correct

explanation of Statement I

(b) Both Statement I and Statement II are

true and Statement II is not the correct

explanation of Statement I

(¢) Statement I is true but Statement II is
false
(d) Statement I is false but Statement II is

true
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61. AR coso= %

foree s 2 2

,G{STO<B<E%,€T

2tan 6

1-tan? 0
(a) 4/3
(b) -—4/3
(e} 1/3
@ -2/3
?TE O<9<90°,0<¢<90°3:ﬁ'( cosG<cos¢'3,
ar fF=fofaa @ @ 991 T 91 8 ?

(a) 0<¢

(b) 0>¢
(©  0+¢=90°

d) I3 Fshy Fel FHehrer S Hehel
ﬁwaﬁ@aﬁﬁmgﬁa%sﬁ&w{h
SIS J1T T §ST O @ | a6 o U fog &
S % TS T I hI9 30° 8 | TEEG H! IR
d gt <eH ¥ w1g &l a% wel 4 femré
T, I P 45° ® | &I h § r B U
TohEeh ST B 2

J2 =1

J§+1
X0

4B +1
242

V3+DH2 -1
272

WFﬂﬁl’Qsm(A+B)- J_ «':FﬁI
?, W& A, B =50 § | tan(2A

TR R ?
(a) 1/2
(b)

(e)

62.

63.

(a)

(b)

(c) d

(d)

J§

I—‘&|Ha

(d)

GTHY-T-XMT

B)%aés'

(20

65. Tm=fafad weml w fomm Hifs

1 aﬁ cos 0 M cos-e =4,T:rgﬁ

l1-sin® 1+sin®
0<0<90°8, dl 6 =60°.

-

2. AR 3 tan O + cot 0 = 5 cosec H, &I

0<0<90°%, dl 6 =60°

UG U H H HIA-F/A GE /R 2

(a) had 1

(b) Had 2

(¢) 13K 2@M

(@ A 13T 2

66. fr=faiRaa sua W famm hifSe .

1. cos.29=1—_———p22;qq2,7’|ﬁp,q EEaEII
Frfesh HEA 8, $had o gya ® 9w
=g

2. “4anZ@= 4pq -1, WP,QW

(p +q)?
rfaeh T 8, $ad ot 999 § 99
p=q.

ST Fel § § BH-AE T AR 2

(a) had 1

(b) heied 2

(¢ 13 22

(d) T 1R TE 2

67. T=foifgs et @ fomr Hifsie .

1. cos® + sec 0 M i 1.5 F wUsT & A
Hahdl | : :

2, secze+cos,ec297=!'3“ﬁ‘Fﬂ4@$1:I7'|—&‘:f3.>T
gl |

3ugh ol @ HE-EVA wE A 2

(a) had 1

(b) <had 2

(¢) 13T 2aHt

(@ FTd13MIH2

A)
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1 n 65
61. If cos =——, where 0<0<—, then .
J5 2
—2-% is equal to
1-tan” 0
(a) 4/3
(b) -—4/3
€ 1/3
(d) -2/3
62. If0 <0 <90°0 < ¢ <90° and cos OB < cos ¢,
then which one of the following is correct ?
(a) O<¢
(b) 6>0¢
(¢) O0+¢=90°
(d) No conclusion can be drawn 66.
63. On the top of @ hemispherical dome of radius
r, there stands a flag of height h. From a point
on the ground, the elevation of the top of the
flag is 30°. After moving a distance d towards
the dome, when the flag is just visible, ‘the
elevation is 45°. The ratio of h to r is equal to
(@ +2-1
(b) \/§ +1
242
g My
22
@ WB+DW2=9
22
64. Letsin (A +B)= g and cos B = g , where 67.
A, B are acute angles. What is tan (2A — B)
equal to ?
(a) 1/2
b V3
1
gl —
J3
d 1
GTHY-T-XMT (21-A)
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Consider the following statements :

5 cos 0
1-sin® 1+4sin®6
0 <06 < 90°, then 6 = 60°.

2. If 3 tan O + cot © = 5 cosec 6, where
0 < 6 < 90°, then 6 = 60°.

1 1If cos O

=4, where

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2 only
(¢ Both1land?2
(d) Neither 1 nor 2
Consider the following statements :
2 2
1L cos? 9=1_uq_’ where p, q are
2pq
non-zero real numbers, is possible only
when p = q.
25 tan? 0 = 4pq2_1, where p, q are
(p+q
non-zero real numbers, is possible only
when p = q.

Which of the statements given above is/are
correct ?

(a)  1lonly

(b) 2 only

(¢) Both1and2

(d) - Neither 1 nor 2

Consider the following statements :

1. cos 0 + sec O can never be equal to 1-5.

2. sec? 0 + cosec? O can never be less than 4.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(¢) Both1land2
(d) . Neither 1 nor 2
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68. I sin?x+sinx= 1%, ar
cos??x + 3 cosl®x + 3 cos® x + cos® x &1 HA
TR ?

(a) -1
) 0
fe): -1
(d 8

69. A 3sin0+5c0s0=4%, al
(3 cos O —5 sin 0)2 T HIF T 8 ?

(a) 9
b) 12
(c) 16
@ 18

70. Ife cot 0 (1 + sin 0) = 4m 3
cot 0(1 — sin 0) £ 4n 8, ° F=fofgd 4 A
HH-ET T g8t 22
@ (m2+n22 R 74.
(b) (m2-n2)2=mn
() (m2-n2)?2 ='m2n2
(d) (mZ+n2)2=m?2n?

71. I TH wwhr Y &1 R R H A
(u? — v2) 3R (u? +/v?) &, 3R g =1 Eeee
2016 S 3H1S &, < Y =t aftE oo 2 2
(a) 224TFT8
(b) 288 THTE
(c) 448FTS
(d) 5763HT

72. | TE0E A OGS A TREwEag e d w
YT B | 3 Fagd # w4 ared fendt off Sqeria
T T A% fohaHT B 2

2
(a) %
75.
V312
(b) <
l2
(c) I
p 12
d =
(d) 5
GTHY-T-XMT (22-A)
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73. THEAH 5 AU HI dar (Sdi o wul #

Big) fomehl wmarg, e o S9 waw:
6m,4m3ﬂ'{2-5m§,ﬁ7€7ﬁm¢ﬁ%|‘ﬁ?
H T H, 3 B OH TS T T FNER
flageht 8 St I o1 25 m 2 | U< Faw
1 &t & fesai # & Syerey § 3k 1 oot U=
# 20 T "X &% U fpar ST whaT R 1 A=
H & fore arravaes fesal 6 g faat & 2
(a) 10
(b) 12
(©) 18
d 14
HH SiC S Th w9l uqde ¥ S GHiw

=qHS T He forgadl ol Sigeh smm mn # |
frafefea St @ famm Hifsr - :

1. T &§9%d 3K S % &% & UM
2612 |

2. S & 9N, T % vl & Smea @@
IR |

ST S B T HH-AVH T 2 2

(a) had 1

(b) wHaw 2

(© 1R 23!

d JTaA1IWTH2

Qﬁﬁgﬁﬁ‘ﬂﬁﬁ5cm,6cm3ﬂ'{7cm§|

Tyt =1 St e fehaT 2 2
(a) 14-9 cm?
(b) 14-7 cm?
() 145 cm?
(d) 143 cm?
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68. Ifsin? x + sin x = 1, then what is the value of
cos!? x + 3 cos1® x + 3 cos® x + cos® x ?
(a) -1
(b) O
e 1
(d 8

69. If3sin 0+ 5 cos O = 4, then what is the value
of (3 cos 0 — 5 sin 0)2 ?
(a) 9
(b) 12
() 716
(d) - 18

70. If cot® (1 +sin 0) =4mand
cot © (1 — sin 0) =4n, then which one of the -
following is correct ?

(a) (m?+n2)?2=mn
(b) (m2-n2)2=mn
(¢) (m2-n2)2=m?n?
(d (m2+n2)2=m?n?

71. If base and hypotenuse of a right triangle are
(u2 — v2) and (u? + v2) respectively and the
area of the triangle is 2016 square units, then
the perimeter of the triangle may be
(a) 224 units
(b) 288 units
(c) 448 units
(d) 576 units ‘

72. - A circle is inscribed in an equilateral triangle
of side of length /. The area of any square
inscribed in the circle is

l2
(a) E
J3 12
b
(b) 7
12
(&) —
lZ
d Lo
(d) 6
GTHY-T-XMT
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73.

74.

75.

{ 28~}

Walls (excluding roofs and floors) of 5 identical
rooms having length, breadth and height 6 m,
4 m and 2-5 m respectively are to be painted.
Out of five rooms, two rooms have one square
window each having a side of 2-5 m. Paints are
available only in cans of 1 litre; and 1 litre of
paint can be used for painting 20 square
metres. The number of cans required for
painting is

(a) 10
(b) 12
() 13
(d) 14

Let S be the parallelogram obtained by joining
the _mid-points of the parallelogram T.
Consider the following statements :

{id The ratio of area of T to that of Sis 2 : 1.

2.  The perimeter of S is half of the sum of
diagonals of T.

Which of the above statements is/are correct ?

(a) 1lonly
(b) 2 only
“(e). Both 1and 2

(d) l Neither 1 nor 2

The sides of a triangle are 5 ¢cm, 6 cm and

7em. The area of the triangle is
approximately
(a) 14'9 cm?
(b) 14-7 cm?
(¢) 145 cm?
(d) 14-3 cm?
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78.

79.
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Th O @S SEHl &A% 144n m? 8, &
IRl 3R 5 m A H Th g 9 & | AR
HR % 99 GEATIT H0h I @S H FA
Shet fohaaT B 2
(a) 3497 m2
(b) 2897 m?2
(¢) 2097 m2
(d) 1497 m?

TF WF H IR YR HAFA 462 cm? B |
3Suht ft F918 35 cm B | WiH F UR i
e wn g 2

(a)
(b)
(e)
@ |
THh JUTH wIE Hl @Rt (Vo Hh) Th

YEAHR TS SR I ® | WP F TAw AR
Y & off" F1 I THA fohaT ® 2

(a)
(b)
(©)
(d)

Q%@HEﬁﬁﬁ?aﬁq#ﬁéﬁéncm%IQﬁ
HT g Y A%d 396 Hd TSI
STFA H YT B, O T AMEE HI =
fopat 8 2

(a)

84 em
6-5 cm
4-2 cm

3'2cm

60°
45°
30°

15°

/2 cm

(b)

T cm

(c)

1/n cm

(d)

2/m cm

80.

81.

82.

(24-A)

@

20cmFIWT§, 15cma@§ﬁ10cmiﬁ1§w
TH AEAHR SAF B S TAT I GAE
A H I AT ] | T T = a9 g

=1 gt 2

(a) 12
(b) 16
(e 20
(d 24

Ifg weh w9 % foerol Y E 17, 9 36w W
A IS &% fohaarg 2

(a) 372
(b) 312
© 2172
242

Q$E”m§ﬁ$mqﬁaﬁﬁﬁE$QHaﬂﬂmﬂ
S ' | ARG T, S 3K C A Py 1 8w,
o1 1 &=HA AR g6 H EAe fAfde w@ E,

-l FRefifed # & e w9 R 2

Te8<C
S<T<C
C<S<T
T<R<S

(a)
(b)
(c)
(d)

& TEEY B % B SHET: (7 — 443 ) cm?
A (7 + 443) em? & | STH @ ySnAT H

AT T B ?
(@) 7-443
(b)
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76. There is a path of width 5 m around a circular | 80.
plot of land whose area is 144n m2. The total
area of the circular plot including the path
surrounding it is
(a) 3497 m?

(b) 289m m?2
(¢) 2097 m?
(d) 1497 m?
81.

77. The lateral surface area of a cone is 462 cm?.

Its slant height is _35.em: The radius of the
base of the cone s

(a) 84cm

(b) 6:5cm

(c) 42cm

d) 32

) o 82.

78. A semi-circular plate is rolled up to form a
conical surface. The angle between the
generator and the axis of the cone is
(a) 60°
(b) 45°
(¢) 80°
(d) 15°

83.

79. A solid right cylinder is of height © cm. If its
lateral surface area is half its total surface
area, then the radius of its base is
(a) n/2cm
(b) mem
() 1/mem
(d 2/nem

GTHY-T-XMT (25-A)

. o ®
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A rectangular block of length 20 cm, breadth
15 ecm and height 10 cm is cut up into exact
number of equal cubes. The least possible
number of cubes will be

(a) 12
(b) 16
(¢) 20
(d 24

If the diagonal of a cube is of length [, then the
total surface area of the cube is

(a) 31°
(b) 312
) 202
i) g

An equilateral triangle, a square and a circle
have equal perimeter. If T, S and C denote the
area of the triangle, area of the square and
area of the circle respectively, then which one

of the following is correct ?
ey C
(b) _S<T <@
(6) @B<S<T
(d) _T<C<S

The areas of two similar triangles are
(7T—4+/3)cm2 and (7 +4+/3)cm?

respectively. The ratio of their corresponding

sides is

(a) 7-443
(b) 7-343
(0 5-+3
d 5++3

: https://t.me/defenceekaksha
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84. U gu i Sia1 qh B ft /3 TR | 9

85.

86.

Sfrar grr oy =9 W SAaika fRam m s, e
919 T Iafd fRT TT T H kAT R | k W
T F R ?

(a) 5
(b) 2
() 1/2
d 1/5

wh 1Y ABC H, Y9¥ AB, AC WGI8 il &
3 2 ABC 3R £ ACB % &I iU & fgHisih
D W uii=dg % & | Alq £ BAC = 50° &, dl
/ BDC forues SR 2 2

(a) 115°
(b) 65°
() 55°
(d) 40°

3 wipail ol SureAl 1:3 % UM § & | Ife

3T amur <t B 31 % EuE A 8, @t

ITeh JTRCH! T STATA I BT 2
&y 12l
by 2:1
© 3:1
(d) 81

87. A q @l AB 3 CD fog O W 3@ &K

GTHY-T-XMT

gfaese wdt 2 fF 2 AOC =5 2A0D®, @ O
W S STl SR I 41 B 2

(a)
(b)
(e) 30°,45°, 75°, 210°
(d)

40°, 40°, 140°, 140°
30°, 30°, 150°, 150°

60°, 60°, 120°, 120°

Join Telegram

88.

89.

90.

(26-A)

afe e fog P 39 YR woar & 6 @ Fem
formgatl A 3t B & s@hl gii & it &1 AThe

o R, @ fag P faguar e 2 2

(a) U A @I

(b) TH A

(¢) AB w9 fgursis
(d) UH @S T

afd ABC T TR B & Wl AC I i
2, a1 Fe=fifed # 9 BH-ar w gd 2

(@) AC®<AB?+BC?
() AC3>AB3+BC?
(¢ AC3<AB?+BC3

(d AC®>AB®+BC?

Uk UE & 1 EEhel fohadl B, S ol ®9 A
2a cm % Y91 9 TH T ¥ UfEg B AR
STafeh ¥4 8 U U0 g9 & dReag & I 3@ o
+ IR gonedt i wasf A @ 2

(a) (4-ma?
(b) (n—2)a2

(¢ (8-ma?/2

(d) (n-2)a2/2
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84. The chord of a circle is \/§ times its radius. | 88.
The angle subtended by this chord at the
minor arc is k times the angle subtended at
the major arc. What is the value of k ?

(a) b5
(b) 2
() 1/2
@ 1/5

85. In a triangle ABC, the sides AB, AC are
produced and the bisectors of exterior angles
of ~ ABC and/~Z ACB intersect at D. If
Z BAC = 50°, then £ BDC is equal to 89
(a) 115°
(b) 65°
(c) H5°
(d) 40°

86. Two cones have their heights in the ratio 1 : 3.

If the radii of their bases are in the ratio 3 : 1,
then the ratio of their volumes will be

(a 1:1

(b 2:1

e . 3:1 90.
d .- 9:1

87. If two lines AB and CD intersect at O such
that £ AOC = 5 £ AOD, then the four angles
at O are
(a) 40°, 40°, 140°, 140°
(b) 30°, 30°, 150°, 150°
(e) 30°,45° 75°, 210°
(d 60°,60°, 120°, 120°

GTHY-T-XMT (27-A)
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If a point P moves such that the sum of the
squares of its distances from two fixed points
A and B is a constant, then the locus of the
point P is

(a) A straight line

A circle

(b)

(c) Perpendicular bisector of AB

(d) An arbitrary curve

If ABC is a right-angled triangle with AC as
its hvpotenuse, then which one of the

following is correct ?

(aly ACTe ARt BCe
) AC?sAB? + BC?
¢ AC®<AB®+BC?

@ AC®>AB®+BC®

The area of the region bounded externally by a
square of side 2a cm and internally by the

circle touching the four sides of the square is

(a) (4-ma?
(b) (n-2)a?
() (8—ma?/2
d) (n-2)a%/2
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92.

93. = @ 7E Il H, 9 cm B A TH gW H|
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= & T sl §, ABC UH wwehw fiyw @
&l £ A =90°, AB = p cm 3R AC =qem® |
fyst & IF gonetl B T A 3w
g e § S 5 ompfa # femmn w2 |
BHIhd HFT 1 &%, 91 cm ®, fhaaT 8 2

A

B C
(a) pq
() m(p?+ q?)/2
() n(p?+q?
(d) pg/2

= & 8 e ®, g9 I B 6 em B, IR
AT =4cm? | TqRI-3@1 PT hl &iars fohat & 2

P
b
(a) 6cm
(b) 8cm
(¢) 9cm
(dd 10cm

= ABCD ? | AB, BC 3t CD s{«t @i =Tg
% & | AB 3 BD &I oieht g @id g
2 S T omepfa § fo@mn mon 2 | SEfRa |
T ATheT T & ?

(a) 9=n
(b) 27n
() 86xn
(d) 8l=n
GTHY-T-XMT

95. d= & 7S ST H, AB 3W A

(28-A)

94, = & S aepfd H, £ BCD fohash st=t 2 2

D

=y

(a) 70°
(b) 75°
(¢) 80°
(d  90°

& 9 8
a5 fog O W 3 | fom ™ 8 T
2 ECD =2 EDC = %° 2, @t ZCEF 3k
£ COF ShU¥T: o911 & ?

(a) 32° 64°
(b)  64°, 64°
() 32° 32°
(d) 64°,32°

96. = & 7S arHfd ¥, A ABR~APQR ? | AR

PQ =3 cm) AB = 6 cm, BR = 82 cm 3R
PR=52¢m 8, d QR 3T AR SHAWT: F1 & 7

(a) 82cm, 104 cm
(b) 4:1cm,6cm
(¢) 26cm,52cm
(d) 4-1cm, 104 cm
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91. In the figure given below, ABC is a
right-angled triangle where £ A = 90°,
AB = p cm and AC = q cm. On the three sides
as diameters semicircles are drawn as shown
in the figure. The area of the shaded portion,
in square cm, is

A
B C

(a) pq
(b) n(p®+ q?)/2
(© n(p?+q?
(d pq/2

92, In the figure given below, the radius of the
circle is 6 cm and AT = 4 cm. The length of
tangent PT is : .

5
b

(a) 6cm
(b) 8cm
() 9cm
(d 10cm

93. In the figure given below, ABCD is the
diameter of a circle of radius 9 em. The
lengths AB, BC and CD are equal. Semicircles
are drawn on AB and BD as diameters as
shown in the figure. What is the area of the
shaded region ?
(a) 9n
(b) 27n
() 36mn
(d) 81n

GTHY-T-XMT

94.

95.

96.

(29-A)

In the figure given below, what is £ BCD

equal to ?
(a) 70°
(b) 75°
() . 80°
(d) 90°

In the figure given below, AB is the diameter
of the circle whose centre is at O. Given that
RO = RN = 322 then ./ CEF
£ COF respectively are

and

F C
A B
0 E

D
(@) 320, 64°
(b) 64°, 64°
(€ 32°,32°
(d) 64°, 32°

In the figure given below, A ABR ~ A PQR. If
PQ =3 cm; AB = 6 cm, BR = 82 em and
PR = 52 em, then QR and AR are respectively

P
B\/R/\ Q
A
(a) 82cm, 104 cm
(b) 41cm,6cm

(c) 26cm,52cm
(d) 4-1cm, 104 cm
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97. = & e s #, ABC w fiyw ® Ry AB,

BC W @9 & | 39% 3ifafish BD, AC R &« & |
Ife AD = 9c¢m 3 DC = 4 cm &, @ BD &l
TS TR ?

B

(a) 13/36cm

(b) 36/13 cm

(¢) 13/2cm

(d)

6 cm

98. fA & W ey #, I AN AW H AW

108 cm ® | SHIfha &= 1 &5 FT & 2

«<— 54cm —><— 54 cm —>

(a) 201n cm?2
(b) 186-3n cm?
(c) 4057 cm?
(d) 769-5n cm?

99.

(30-A)

~ (b)

100.

2 & w8 amgfa #, ABC wF @wag Biyw R,
gt T% YT 30 cm @@ H B | XY, BC

% AR ?, XP, AC % THI=H ® 3N YQ, AB
& T ? | AR XY + XP + YQ, 40 cm B,
PQ T U 1 8 ?

B 12 Q C
(a) 5S5cm
12 cm
(e) ~ 15cm
(d)/ 10ecm

= & 7 AHld H, ABCD, 4 cm ! ST 1Al
TS o 7 | SR HHEl H 2 cm S G TH I
%W_EW@%@TZcmWW
TH ad ft g1 foFn Sl ® | ®withd & H
AR TR ?

D% C
A /B
(a) 5% cm?
(b) 7% em?
() 9= cm?
(d 9= cm?
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In the figure given below, ABC is a triangle
with AB perpendicular to BC. Further BD is
perpendicular to AC. If AD =9 ¢cm and
DC = 4 cm, then what is the length of BD ?
B

g B A
(a) 13/36cm
(b) 36/13 cm
() 13/2cm
(d) 6cm
In the figure given below, the diameter of

bigger semicircle is 108 em. What is the area
of the shaded region ?

«<—54cm —><— 54ecm —

(a) 201m cm?2

(b) 186-3n cm?
(¢) 4057 cm?

(d) 76957 cm?

99‘

100.

(F-Aj

In the
equilateral triangle with each side of length
30 cm. XY is parallel to BC, XP is parallel to
AC and YQ is parallel to AB. If XY + XP + YQ
is 40 c¢m, then the value of PQ is

A

an

figure given below, ABC is

B F Q C
(a) bBem
(b) 12cm
(¢) 15cm
(d) « 10em
In the figure given below, ABCD is a square of

side 4 cm. Quadrants of a circle of diameter
2 em are removed from the four corners and a
circle of diameter 2 cm is also removed. What
is the area of the shaded region ?

D C

(a)
(b)
9— cm?

(¢)

(d)

9= cm?2
6
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SPACE FOR ROUGH WORK
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C.: GTHY-T-XNIT ' Test Booklet Series

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

9.
10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET. 3

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

@) There are four alternatives for the answer to every question. For each question for which a wrong answer

has been given by the candidate, one-third (0-33) of the marks assigned to that question will be
deducted as penalty.

(i1) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

S S SR R TR 39 YR % 99 I8 W B R |

GTHY-T-XMT (36-A)
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